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INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

1.~ You have been given this question booklet and a separate answer sheet. The question booklet contains 90 questions.
2. Do any necessary rough work in this booklet.

3. When you have chosen your answer, mark it on the ANSWER SHEET, not in this question booklet.

HOW TO USE THE ANSWER SHEET
4. Use an ordinary pencil.

5. Make sure you have written on the answer sheet; DAY 3
YOUR INDEX NUMBER Thursday — 15/11/2012
YOER N 8.30 am — 10.45 am

NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number
and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.

7. Do not make any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold it.

9. For each of the questions 1 — 90 four answers are given. The answers are lettered A, B, C and D. In each case only
ONE of the four answers is correct. Choose the correct answer.

10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter you
have chosen is written.

Example
In the Question Booklet:

31. The main reason for establishing settlement schemes in Kenya after independence was to
A. improve standards of living in the rural areas
B. avail farms to the people who had no land
C. reduce pressure on land in densely populated arcas
D. increase crop and livestock production.
The correct answer is “B”
On the answer sheet:
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In the set of boxes numbered 31, the box with the letter B printed in it is marked.

11. Your dark line MUST be within the box.

12. For each question ONLY ONE box is to be marked in each set of four boxes.

I

This question paper consists of 12 printed pages.
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PART I SOCIAL STUDIES
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Study the map of Kita Area provided and answer
questions 1 to 7.

1.

The general direction of flow of River Kita is
A. North East to South West
B. North West to South East
C. South East to North West
D. South West to North East.

The approximate length of the tarmac road in
Kita area is

A. 10km

B. 13km

C. 19km

D. 23km.

The main means of transport in Kita area is
A. water transport

B. railway transport

C. air transport

D. road transport.

The highest point in Kita area is
A. 1000m
B. 1200m
C. [500m
D. 2000m.

Which one of the following divisions is likely to
have a cool and wet climate?

A. Lako Division.

B. Bita Division.

C. Bao Division.

D. Koma Division.

Kenda found a person breaking into a shop
at Ziko shopping centre. Which one of the
following would be the appropriate office in
Kita area for him to report the crime?

A. The headteacher’s office.

B. The chief’s office.

C. The CDF office.

D. Municipal Council office.

A tourist was travelling along the Murram Road
from Lita Market towards Pinya Hill. Which
one of the following is the correet order of the
natural vegetation that he saw on the way?

A. Forest, papyrus, scrub.

B. Papyrus, scrub, forest.

C. Scrub, papyrus, forest.

D. Forest, scrub, papyrus.

One of the results of the interaction between the

Agikuyu and the Maasai during the pre-colonial

period was that the

A. Agikuyu learnt the skill of crop farming from
the Maasai

B. Agikuyu intermarried with the Maasai

C. Maasai borrowed the art of circumcision from
the Agikuyu

D. Maasai learnt the practice of cattle keeping
from the Agikuyu.
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9.

10.

1L

12.

13.

14.

15.

The statements below describe a type of climate

in Africa.

(1) It has hot and dry summers.

(ii) It has cool and wet winters.

(i) Its average rainfall is between
500mm-1000mm.

(iv) Itis experienced in areas that liec about 35°

North and South of the Equator.

The type of climate described above is
A. Mediterranean climate

B. Equatorial climate

C. Semi-desert climate

D. Tropical continental climate.

Three of the following statements are true about
the Kingdoms of Old Ghana and Buganda.
Which one is not? Both Kingdoms

A. had powerful rulers

B. had a standing army

C. prospered due to trade

D. declined when slave trade was abolished.

Which one of the following was a characteristic

of African traditional education?

A. Children started learning after initiation.

B. Songs were used as a method of teaching.

C. Parents avoided teaching their own children.

D. Children were allowed to choose what to
learn.

Which one of the following is a modern method
of preserving fish?

A. Sun-drying.

B. Smoking.

C. Salting.

D. Canning.

Laibon Lenana collaborated with the British
because he wanted

A. his people to get western education

B. to acquire better breeds of cattle

C. to get support against his enemies

D. to be trained as a soldier.

Which one of the following statements describes

direct democracy?

A. All citizens are involved in making decisions.

B. Citizens must agree with what the
government decides.

C. All decisions are made by the head of state.

D. Citizens elect representatives to make
decisions for them.

Which one of the following minerals is correctly
matched with the method of mining through
which it is extracted?

Mineral Method of mining
A. Gold - Dredging.
B. Copper - Panning.
C. Soda Ash - Adit.
D. Petroleum - Drilling.
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16. Which one of the following soil conservation
methods is used to control gully erosion?
A. Constructing terraces.
B. Planting cover crops.
C. Building gabions.
D. Contour ploughing.

17. Jane, a Standard Eight pupil, was punished by
her class teacher for arguing against some school
rules. Which of the following fundamental
freedoms was Jane denied?

A. Freedom of worship.

B. Freedom of expression.

C. Freedom of association.

D. Freedom of assembly.

18.

Who among the following members of a school
management committee ensures that money is
used properly?

A. The chairperson.

B. The sponsor.

C. The head teacher.

D. The treasurer.

19. Which one of the following statements is true
about the policy of assimilation used by the
French in Senegal?

A. Africans became citizens of France.

B. The French were made to learn African
languages.

C. The French appointed Africans to rule Senegal.

D.

20.

Which one of the following is a qualification for
a person who wishes to be elected as a member
of the National Assembly in Kenya? One must be
A. acivil servant

B. over 35 years of age

C. registercd as a voter

D. a Kenyan by birth.

21. Which one of the following types of marriages
allows a man to marry up to four wives?

A. Christian marriage.

B. Muslim marriage.

C. Hindu marriage.

D. Traditional African marriage.

22. Three of the following are reasons why European
powers scrambled for Africa. Which one is not?
A. They wanted land to re-settle some of their
population.

They wanted to control areas where they
would get more slaves.

They wanted to establish markets for their
manufactured goods.

They were looking for sources of raw
materials for their industries.

B.
&,

D.

Which one of the following is the main reason
why the Kariba Dam was built?

A. To create a lake for fishing.

B. To provide water for irrigation.

C. To control floods on the River Zambezi.

D. To generate hydro-electric power.
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Africans were refused to vote in general elections.

24. Which one of the following archacological sites
in Eastern Africa is correctly matched with the
country where it is found?

Archaeological site Country
A. Olduvai Gorge - Uganda
B. River Omo Basin - Tanzania
C. Olorgesaillie - Kenya
D. Ishango - Ethiopia

25. Which one of the following activities is likely to
weaken national unity in Kenya?
A. Employing relatives.
B. Amending the constitution.
C. Using a national language.
D. Pardoning reformed criminals.

Use the map of Africa below to answer questions 26
to 29.

3?°E

26. The dotted area marked U is sparsely populated
because it
A. is forested
B. is hot and dry
C. 1s mountainous
D. experiences floods.

27. If the time at Accra is 9.00 a.m., what is the time
at Kigali?

A. 11.00 a.m.

B. 11.00 p.m.

C. 7.00 a.m.

D. 7.00 p.m.
28.

The country marked T was colonized by
A. Britain

B. Spain

C. Portugal

D. Germany.







